

Generalized Rough Sets and Relations

Yong Chan Kim

Department of Mathematics, Kangnung National University
Gangneung, Gangwondo 210-702, Korea
yck@kangnung.ac.kr

Young Sun Kim

Department of Applied Mathematics, Pai Chai University
Dae Jeon, 302-735, Korea
yskim@pcu.ac.kr

Abstract

In this paper, we introduce the notions of generalized upper (lower) approximations, generalized upper (lower) bounded operations and various operations. We investigate their properties.

Mathematics Subject Classification: 03B52, 03B70, 03G25

Keywords: generalized upper (lower) approximations, generalized upper (lower) bounded operations

1 Introduction and preliminaries

Mathematics requires that all mathematical notions (including set) must be exact, otherwise precise reasoning would be impossible. However, philosophers and recently computer scientists as well as other researcher have become interested in vague concepts. One of them is a view of rough set. Rough set theory was introduced by Pawlak [2-6] to generalize the classical set theory. Rough approximations are defined by a partition of the universe which is corresponding to the equivalence relation. Yao [7,8] investigated the connections among binary relations, neighborhood operators and rough approximation operators.

In this paper, we introduce the notions of generalized upper (lower) approximations, generalized upper (lower) bounded operations and various operations. We investigate their properties.

2 Preliminaries

Definition 2.1 A subset R of $X \times X$ is an equivalence relation on X if it satisfies the following conditions:

- (reflexive) $(x, x) \in R$ for all $x \in X$,
- (symmetric) If $(x, y) \in R$, then $(y, x) \in R$,
- (transitive) If $(x, y), (y, z) \in R$, then $(x, z) \in R$.

A subset R of $X \times X$ is a quasi-equivalence relation if it is reflexive and transitive.

Let $R_1 \subset P(U \times V)$ and $R_2 \subset P(V \times W)$ be relations. The compositions of R_1 and R_2 are defined as

$$R_1 \circ R_2 = \{(x, z) \in U \times W \mid (\exists y \in V)((x, y) \in R_1, (y, z) \in R_2)\}$$

$$R_1 \Rightarrow R_2 = \{(x, z) \in U \times W \mid (\forall y \in V)((x, y) \in R_1 \rightarrow (y, z) \in R_2)\}$$

$$R_1 \Leftarrow R_2 = \{(x, z) \in U \times W \mid (\forall y \in V)((y, z) \in R_2 \rightarrow (x, y) \in R_1)\}$$

$$R_1 \oplus R_2 = \{(x, z) \in U \times W \mid (\forall y \in V)((x, y) \in R_1 \vee (y, z) \in R_2)\}$$

$$R_1^s = \{(y, x) \in V \times U \mid (x, y) \in R_1\}.$$

Example 2.2 Let $U = \{x_1, x_2\}$, $V = \{y_1, y_2\}$ and $W = \{z_1, z_2\}$. Let $R_1 = \{(x_1, y_1), (x_2, y_1)\}$ and $R_2 = \{(y_1, z_2), (y_2, z_2)\}$. Then we obtain:

$$R_1 \circ R_2 = \{(x_1, z_2), (x_2, z_2)\}, \quad R_1 \Rightarrow R_2 = \{(x_1, z_2), (x_2, z_2)\}$$

$$R_1 \Leftarrow R_2 = \{(x_1, z_1), (x_2, z_1)\}, \quad R_1 \oplus R_2 = \{(x_1, z_2), (x_2, z_2)\}.$$

Lemma 2.3 Let $R \subset P(U \times U)$ be a relation. We have the following properties.

(1) If R is reflexive, then $R \subset R \circ R$, $(R \Rightarrow R) \subset R$, $(R \Leftarrow R) \subset R$ and $R \circ R$ is reflexive.

(2) $(R \circ R)^c = R^c \oplus R^c$. If R^c is reflexive, then $R \oplus R \subset R$.

(3) R is transitive iff $R \circ R \subset R$. Moreover, R^c is transitive iff $R \subset R \oplus R$.

(4) If $R^s \circ R \subset R$, then $R \subset (R \Rightarrow R)$. Moreover, if $R \circ R^s \subset R$, then $R \subset (R \Leftarrow R)$.

(5) If R is a quasi-equivalence relation, then $R = (R^s \Rightarrow R)$, $R = (R \Leftarrow R^s)$, $R = R \circ R$ and $R^c = R^c \oplus R^c$.

(6) $R^s \circ R$ and $R^s \oplus R$ are symmetric.

(7) $R^s \circ R \subset R$ and R is reflexive iff R is an equivalence relation.

(8) $R \subset R^s \oplus R$ and R^c is reflexive iff R^c is an equivalence relation.

(9) If R is an equivalence relation, then $R = R \circ R = R \Rightarrow R = R \Leftarrow R = R^s \circ R = R^s \Rightarrow R = R \Leftarrow R^s$ and $R^c = R^c \oplus R^c = (R^c)^s \oplus R^c$.

Proof. (1) Let $(x, z) \in (R \Rightarrow R)$. Then $(x, x) \in R$ implies $(x, z) \in R$. Thus, $(R \Rightarrow R) \subset R$.

(2) Since R^c is reflexive, by (1), $R^c \subset R^c \circ R^c$. Thus $R \oplus R = (R^c \circ R^c)^c \leq R$.

(5) Let $(x, z) \in (R^s \Rightarrow R)$. Since R is reflexive, $(x, x) \in R^s$ implies $(x, z) \in R$. Thus, $(R^s \Rightarrow R) \subset R$. Since R is transitive; i.e, $(x, z) \in R \wedge (z, y) \in R$ implies $(x, y) \in R$, equivalently, $(z, y) \in R$ implies $[(x, z) \in R \rightarrow (x, y) \in R]$ for all $x \in U$. Thus $(z, y) \in (R^s \Rightarrow R)$ Therefore $(R^s \Rightarrow R) = R$.

(6) It follows from

$$\begin{aligned} (x, z) \in R^s \circ R & \text{ iff } (\exists y \in U)((x, y) \in R^s \wedge (y, z) \in R) \\ & \text{ iff } (\exists y \in U)((z, y) \in R^s \wedge (y, x) \in R) \\ & \text{ iff } (z, x) \in R^s \circ R. \end{aligned}$$

Other cases are easily proved.

3 Generalized rough sets and relations

Definition 3.1 Let U and V be sets with a relation $R \in P(U \times V)$. For each $A \subset U$ and $B \subset V$, we define:

(1) A lower approximation $\underline{apr}_{R_u} : P(V) \rightarrow P(U)$ is defined as:

$$\underline{apr}_{R_u}(B) = \{x \in U \mid (\forall y \in V) ((x, y) \in R \rightarrow y \in B)\}$$

and an upper approximation $\overline{apr}_{R_u} : P(V) \rightarrow P(U)$ is defined as:

$$\overline{apr}_{R_u}(B) = \{x \in U \mid (\exists y \in V) ((x, y) \in R \wedge y \in B)\}.$$

The pair $(\underline{apr}_{R_u}, \overline{apr}_{R_u})$ is called a generalized rough approximation on U .

(2) A lower approximation $\underline{apr}_{R_v} : P(U) \rightarrow P(V)$ is defined as:

$$\underline{apr}_{R_v}(A) = \{y \in V \mid (\forall x \in U) ((x, y) \in R \rightarrow x \in A)\}$$

and an upper approximation $\overline{apr}_{R_v} : P(U) \rightarrow P(V)$ is defined as:

$$\overline{apr}_{R_v}(A) = \{y \in V \mid (\exists x \in U) ((x, y) \in R \wedge x \in A)\}.$$

The pair $(\underline{apr}_{R_v}, \overline{apr}_{R_v})$ is called a generalized rough approximation on V .

(3) A map $Ib_{R_u} : P(V) \rightarrow P(U)$ is called a generalized lower bound operator defined as:

$$Ib_R(B) = \{x \in U \mid (\forall y \in V)(y \in B \rightarrow (x, y) \in R)\}$$

and a map $Ub_{R_v} : P(U) \rightarrow P(V)$ is called a generalized upper bound operator defined as

$$Ub_R(A) = \{y \in V \mid (\forall x \in U)(x \in A \rightarrow (x, y) \in R)\}.$$

(4) A map $O_{R_u} : P(V) \rightarrow P(U)$ is defined as:

$$O_{R_u}(B) = \{x \in U \mid (\forall y \in V)(y \in B \vee (x, y) \in R)\}$$

and a map $O_{R_v} : P(U) \rightarrow P(V)$ is defined as:

$$O_{R_v}(A) = \{y \in V \mid (\forall x \in U)(x \in A \vee (x, y) \in R)\}.$$

(5) A map $P_{R_u} : P(V) \rightarrow P(U)$ is defined as

$$P_{R_u}(B) = \{x \in U \mid (\exists y \in V)(y \in B \wedge (x, y) \notin R)\}$$

and a map $P_{R_v} : P(U) \rightarrow P(V)$ is defined as

$$P_{R_v}(A) = \{y \in V \mid (\exists x \in U)(x \in A \wedge (x, y) \notin R)\}.$$

Theorem 3.2 *Let U and V be sets with a relation $R \in P(U \times V)$. Then the following properties hold:*

- (1) $\underline{apr}_{R_u}(B) = O_{R_u^c}(B) = Ib_{R^c}(B^c)$, for all $B \in P(V)$.
- (2) $\underline{apr}_{R_v}(A) = O_{R_v^c}(A) = Ub_{R^c}(A^c)$, for all $A \in P(U)$.
- (3) $(\overline{apr}_{R_u}(B))^c = Ib_{R^c}(B) = O_{R_u^c}(B^c) = \underline{apr}_{R_u}(B^c)$, for all $B \in P(V)$.
- (4) $(\overline{apr}_{R_v}(A))^c = Ub_{R^c}(A) = O_{R_v}(A^c) = \underline{apr}_{R_v}(A^c)$, for all $A \in P(U)$.
- (5) $O_{R_u}(B) = \underline{apr}_{R_u^c}(B) = Ib(B^c)$, for all $B \in P(V)$.
- (6) $O_{R_v}(A) = \underline{apr}_{R_v^c}(A) = Ub(A^c)$, for all $A \in P(U)$.
- (7) $P_{R_u}(B) = (\underline{apr}_{R_u}(B^c))^c = \overline{apr}_{R_u^c}(B)$, for all $B \in P(V)$.
- (8) $P_{R_v}(A) = \overline{apr}_{R_v^c}(A) = (\underline{apr}_{R_v}(A^c))^c$, for all $A \in P(U)$.

Proof. (1)

$$\begin{aligned} \underline{apr}_{R_u}(B) &= \{x \in U \mid (\forall y \in V) ((x, y) \in R \rightarrow y \in B)\} \\ &= \{x \in U \mid (\forall y \in V) ((x, y) \notin R \vee y \in B)\} \\ &= O_{R_u^c}(B) \\ &= \{x \in U \mid (\forall y \in V) (y \in B^c \rightarrow (x, y) \in R^c)\} \\ &= Ib_{R^c}(B^c) \end{aligned}$$

(3)

$$\begin{aligned} (\overline{apr}_{R_u}(B))^c &= (\{x \in U \mid (\exists y \in V) ((x, y) \in R \wedge y \in B)\})^c \\ &= \{x \in U \mid (\forall y \in V) ((x, y) \notin R \vee y \notin B)\} \\ &= O_{R_u^c}(B^c) \\ &= \{x \in U \mid (\forall y \in V) (y \in B \rightarrow (x, y) \in R^c)\} \\ &= Ib_{R^c}(B) \\ &= \{x \in U \mid (\forall y \in V) ((x, y) \in R \rightarrow y \in B^c)\} \\ &= \underline{apr}_{R_u}(B^c) \end{aligned}$$

$$\begin{aligned}
(5) \quad O_{R_u}(B) &= \{x \in U \mid (\forall y \in V)(y \in B \vee (x, y) \in R)\} \\
&= \{x \in U \mid (\forall y \in V)(y \in B^c \rightarrow (x, y) \in R)\} \\
&= Ib_R(B^c) \\
&= \{x \in U \mid (\forall y \in V)((x, y) \in R^c \rightarrow y \in B)\} \\
&= \underline{apr}_{R_u^c}(B).
\end{aligned}$$

Other cases are similarly proved.

Example 3.3 Let $U = \{x_1, x_2, x_3\}$, $V = \{y_1, y_2, y_3\}$, $A = \{x_2, x_3\}$ and $B = \{y_2, y_3\}$ be sets. Let $R = \{(x_1, y_1), (x_1, y_3), (x_2, y_1), (x_3, y_2)\}$ be a relation. Then we obtain:

$$\begin{aligned}
\underline{apr}_{R_u}(B) &= \{x_3\}, \quad \underline{apr}_{R_u^c}(B) = \{x_1, x_2\}, \\
\overline{apr}_{R_u}(B) &= \{x_1, x_3\}, \quad \overline{apr}_{R_u^c}(B) = \{x_1, x_2, x_3\}, \\
Ib_R(B) &= \underline{apr}_{R_u^c}(B^c) = \emptyset, \\
O_{R_u}(B) &= \{x_1, x_3\}, \quad P_{R_u}(B) = U, \\
\underline{apr}_{R_v}(A) &= \{y_2\}, \quad \underline{apr}_{R_v^c}(A) = \{y_1, y_3\}, \\
\overline{apr}_{R_v}(A) &= \{y_1, y_2\}, \quad \overline{apr}_{R_v^c}(A) = \{y_1, y_2, y_3\}, \\
Ub_R(A) &= \underline{apr}_{R_v^c}(A^c) = \emptyset, \\
O_{R_v}(A) &= \{y_1, y_3\}, \quad P_{R_v}(A) = V.
\end{aligned}$$

Theorem 3.4 Let $R_1 \subset P(U \times V)$ and $R_2 \subset P(V \times W)$ be two relations. We have the following properties.

- (1) $\underline{apr}_{(R_1 \circ R_2)_u} = \underline{apr}_{R_{1u}} \circ \underline{apr}_{R_{2v}}$ and $\underline{apr}_{(R_1 \circ R_2)_w} = \underline{apr}_{R_{2w}} \circ \underline{apr}_{R_{1v}}$.
- (2) $\overline{apr}_{(R_1 \circ R_2)_u} = \overline{apr}_{R_{1u}} \circ \overline{apr}_{R_{2v}}$ and $\overline{apr}_{(R_1 \circ R_2)_w} = \overline{apr}_{R_{2w}} \circ \overline{apr}_{R_{1v}}$.
- (3) $Ib_{(R_1 \Rightarrow R_2)} = \underline{apr}_{R_{1u}} \circ Ib_{R_2}$.
- (4) $Ub_{(R_1 \Rightarrow R_2)} = Ub_{R_2} \circ \overline{apr}_{R_{1v}}$.
- (5) $Ib_{(R_1 \Leftarrow R_2)} = Ib_{R_1} \circ \overline{apr}_{R_{2v}}$.
- (6) $Ub_{(R_1 \Leftarrow R_2)} = \underline{apr}_{R_{2w}} \circ Ub_{R_1}$.
- (7) $O_{(R_1 \Rightarrow R_2)_u} = \underline{apr}_{R_{2w}^c} \circ O_{R_{1v}^c} = O_{R_{2w}} \circ O_{R_{1v}^c}$ and $O_{(R_1 \Rightarrow R_2)_w} = \underline{apr}_{R_{1u}} \circ \underline{apr}_{R_{2v}^c}$.
- (8) $Ib_{R_1 \oplus R_2} = \underline{apr}_{R_{1u}^c} \circ Ib_{R_2} = O_{R_{1u}} \circ Ib_{R_2} = Ib_{R_1} \circ Ib_{R_2}^c$.
- (9) $Ub_{R_1 \oplus R_2} = \underline{apr}_{R_{2w}^c} \circ Ub_{R_1} = O_{R_{2w}} \circ Ub_{R_1} = Ub_{R_2} \circ Ub_{R_1}^c$.
- (10) $O_{(R_1 \oplus R_2)_u} = O_{R_{1u}} \circ O_{R_{2v}}$ and $O_{(R_1 \oplus R_2)_w} = O_{R_{2w}} \circ O_{R_{1v}}$.
- (11) $P_{(R_1 \oplus R_2)_u} = P_{R_{1u}} \circ P_{R_{2v}}$ and $P_{(R_1 \oplus R_2)_w} = P_{R_{2w}} \circ P_{R_{1v}}$.
- (12) $Ib_{R_1} \circ Ib_{R_2} = \underline{apr}_{R_{1u}^c} \circ \overline{apr}_{R_{2u}^c}$.
- (13) $Ub_{R_2} \circ Ub_{R_1} = \underline{apr}_{R_{2v}^c} \circ \overline{apr}_{R_{1v}^c}$.

Proof. (1) For each $C \in P(W)$,

$$\begin{aligned}
& \underline{apr}_{(R_1 \circ R_2)_u}(C) \\
&= \{x \in U \mid (\forall z \in W) \left((x, z) \in (R_1 \circ R_2) \rightarrow z \in C \right)\} \\
&= \{x \in U \mid (\forall z \in W) \left((\exists y \in V) \left((x, y) \in R_1 \wedge (y, z) \in R_2 \rightarrow z \in C \right) \right)\} \\
&= \{x \in U \mid (\forall z \in W) (\forall y \in V) \left((x, y) \in R_1 \wedge (y, z) \in R_2 \rightarrow z \in C \right)\} \\
&= \{x \in U \mid (\forall y \in V) \left((x, y) \in R_1 \rightarrow (\forall z \in W) \left((y, z) \in R_2 \rightarrow z \in C \right) \right)\} \\
&= \{x \in U \mid (\forall y \in V) \left((x, y) \in R_1 \rightarrow y \in \underline{apr}_{R_{2v}}(C) \right)\} \\
&= \underline{apr}_{R_{1u}}(\underline{apr}_{R_{2v}}(C)).
\end{aligned}$$

(3) For each $C \in P(W)$,

$$\begin{aligned}
& Ib_{(R_1 \Rightarrow R_2)}(C) \\
&= \{x \in U \mid (\forall z \in W) \left(z \in C \rightarrow (x, z) \in (R_1 \Rightarrow R_2) \right)\} \\
&= \{x \in U \mid (\forall z \in W) \left(z \in C \rightarrow (\forall y \in V) \left((x, y) \in R_1 \Rightarrow (y, z) \in R_2 \right) \right)\} \\
&= \{x \in U \mid (\forall z \in W) (\forall y \in V) \left((z \in C \wedge (x, y) \in R_1) \Rightarrow (y, z) \in R_2 \right)\} \\
&= \{x \in U \mid (\forall y \in V) \left((x, y) \in R_1 \rightarrow (\forall z \in W) (z \in C \Rightarrow (y, z) \in R_2) \right)\} \\
&= \{x \in U \mid (\forall y \in V) \left((x, y) \in R_1 \rightarrow y \in Ib_{R_2}(C) \right)\} \\
&= \underline{apr}_{R_{1u}}(Ib_{R_2}(C)).
\end{aligned}$$

(4) For each $A \in P(U)$,

$$\begin{aligned}
& Ub_{(R_1 \Rightarrow R_2)}(A) \\
&= \{z \in W \mid (\forall x \in U) \left(x \in A \rightarrow (x, z) \in (R_1 \Rightarrow R_2) \right)\} \\
&= \{z \in W \mid (\forall x \in U) \left(x \in A \rightarrow (\forall y \in V) \left((x, y) \in R_1 \Rightarrow (y, z) \in R_2 \right) \right)\} \\
&= \{z \in W \mid (\forall x \in U) (\forall y \in V) \left((x \in A \wedge (x, y) \in R_1) \Rightarrow (y, z) \in R_2 \right)\} \\
&= \{z \in W \mid (\forall y \in V) \left((\exists x \in U) (x \in A \wedge (x, y) \in R_1) \Rightarrow (y, z) \in R_2 \right)\} \\
&= \{z \in W \mid (\forall y \in V) \left(y \in \overline{apr}_{R_{1v}}(A) \Rightarrow (y, z) \in R_2 \right)\} \\
&= Ub_{R_2}(\overline{apr}_{R_{1v}}(A))
\end{aligned}$$

(5) For each $C \in P(W)$,

$$\begin{aligned}
& Ib_{(R_1 \Leftarrow R_2)}(C) \\
&= \{x \in U \mid (\forall z \in W) \left(z \in C \rightarrow (x, z) \in (R_1 \Leftarrow R_2) \right)\} \\
&= \{x \in U \mid (\forall z \in W) \left(z \in C \rightarrow (\forall y \in V) \left((y, z) \in R_2 \rightarrow (x, y) \in R_1 \right) \right)\} \\
&= \{x \in U \mid (\forall z \in W) (\forall y \in V) \left(z \in C \rightarrow ((y, z) \in R_2 \rightarrow (x, y) \in R_1) \right)\} \\
&= \{x \in U \mid (\forall y \in V) \left((\exists z \in W) (z \in C \wedge (y, z) \in R_2) \rightarrow (x, y) \in R_1 \right)\} \\
&= \{x \in U \mid (\forall y \in V) \left(y \in \overline{apr}_{R_{2v}}(C) \rightarrow (x, y) \in R_1 \right)\} \\
&= Ib_{R_1}(\overline{apr}_{R_{2v}}(C))
\end{aligned}$$

(6) For each $A \in P(U)$,

$$\begin{aligned}
& Ub_{(R_1 \Leftarrow R_2)}(A) \\
&= \{z \in W \mid (\forall x \in U)(x \in A \rightarrow (x, z) \in (R_1 \Leftarrow R_2))\} \\
&= \{z \in W \mid (\forall x \in W)(x \in A \rightarrow (\forall y \in V)((y, z) \in R_2 \rightarrow (x, y) \in R_1))\} \\
&= \{z \in W \mid (\forall x \in W)(\forall y \in V)(x \in A \rightarrow ((y, z) \in R_2 \rightarrow (x, y) \in R_1))\} \\
&= \{z \in W \mid (\forall x \in W)(\forall y \in V)((y, z) \in R_2 \rightarrow (x \in A \rightarrow (x, y) \in R_1))\} \\
&= \{z \in W \mid (\forall y \in V)((y, z) \in R_2 \rightarrow (\forall x \in W)(x \in A \rightarrow (x, y) \in R_1))\} \\
&= \{z \in W \mid (\forall y \in V)((y, z) \in R_2 \rightarrow y \in Ub_{R_1})\} \\
&= \underline{apr}_{R_{2w}}(Ub_{R_1}(A)).
\end{aligned}$$

(8) For each $C \in P(W)$,

$$\begin{aligned}
& Ib_{R_1 \oplus R_2}(C) \\
&= \{x \in U \mid (\forall z \in W)(z \in C \rightarrow (x, z) \in (R_1 \oplus R_2))\} \\
&= \{x \in U \mid (\forall z \in W)(z \in C \rightarrow (\forall y \in V)((x, y) \in R_1 \vee (y, z) \in R_2))\} \\
&= \{x \in U \mid (\forall z \in W)(\forall y \in V)(z \in C \rightarrow ((x, y) \in R_1 \vee (y, z) \in R_2))\} \\
&= \{x \in U \mid (\forall z \in W)(\forall y \in V)((x, y) \in R_1 \vee (y, z) \in R_2)^c \rightarrow z \notin C)\} \\
&= \{x \in U \mid (\forall z \in W)(\forall y \in V)((x, y) \notin R_1 \wedge (y, z) \notin R_2 \rightarrow z \notin C)\} \\
&= \{x \in U \mid (\forall z \in W)(\forall y \in V)((x, y) \notin R_1 \rightarrow ((y, z) \notin R_2 \rightarrow z \notin C))\} \\
&= \{x \in U \mid (\forall y \in V)((x, y) \notin R_1 \rightarrow (\forall z \in W)(z \in C \rightarrow (y, z) \in R_2))\} \\
&= \underline{apr}_{R_{1u}^c}(Ib_{R_2}(C)) = O_{R_{1u}}(Ib_{R_2}(C)) \\
&= Ib_{R_1}(Ib_{R_2}^c(C)).
\end{aligned}$$

(10) For each $C \in P(W)$,

$$\begin{aligned}
& O_{R_{1u}}(O_{R_{2v}}(C)) \\
&= \{x \in U \mid (\forall y \in V)(y \in O_{R_{2v}}(C) \vee (x, y) \in R_1)\} \\
&= \{x \in U \mid (\forall y \in V)((\forall z \in W)(z \in C \vee (y, z) \in R_2) \vee (x, y) \in R_1)\} \\
&= \{x \in U \mid (\forall y \in V)(\forall z \in W)((z \in C \vee (y, z) \in R_2) \vee (x, y) \in R_1)\} \\
&= \{x \in U \mid (\forall y \in V)(\forall z \in W)((z \in C) \vee (\forall y \in V)((y, z) \in R_2) \vee (x, y) \in R_1)\} \\
&= O_{(R_1 \oplus R_2)_u}(C).
\end{aligned}$$

(11) For each $A \in P(U)$,

$$\begin{aligned}
& P_{R_{2w}}(P_{R_{1v}}(A)) \\
&= \{z \in W \mid (\exists y \in V)(y \in P_{R_{1v}}(A) \wedge (y, z) \notin R_2)\} \\
&= \{z \in W \mid (\exists y \in V)((\exists x \in U)(x \in A \wedge (x, y) \notin R_1) \wedge (y, z) \notin R_2)\} \\
&= \{z \in W \mid (\exists y \in V)(\exists x \in U)((\exists x \in U)(x \in A \wedge ((x, y) \notin R_1 \wedge (y, z) \notin R_2))\} \\
&= \{z \in W \mid (\exists x \in U)(x \in A \wedge (\exists y \in V)((x, y) \notin R_1 \wedge (y, z) \notin R_2))\} \\
&= \{z \in W \mid (\exists x \in U)(x \in A \wedge (x, y) \notin (R_1 \oplus R_2))\} \\
&= Ub_{(R_1 \oplus R_2)v}(A).
\end{aligned}$$

(12) For each $C \in P(W)$,

$$\begin{aligned}
& Ib_{R_1}(Ib_{R_2})(C) \\
&= \{x \in U \mid (\forall y \in V)(y \in Ib_{R_2}(C) \rightarrow (x, y) \in R_1)\} \\
&= \{x \in U \mid (\forall y \in V)((\forall z \in W)(z \in C \rightarrow (y, z) \in R_2) \rightarrow (x, y) \in R_1)\} \\
&= \{x \in U \mid (\forall y \in V)((\forall z \in W)(z \in C \rightarrow (y, z) \in R_2) \rightarrow (x, y) \in R_1)\} \\
&= \{x \in U \mid (\forall y \in V)((x, y) \notin R_1 \rightarrow (\exists z \in W)(z \in C \rightarrow (y, z) \in R_2)^c)\} \\
&= \{x \in U \mid (\forall y \in V)((x, y) \notin R_1 \rightarrow (\exists z \in W)(z \in C \wedge (y, z) \notin R_2))\} \\
&= \underline{apr}_{R_{1u}^c}(\overline{apr}_{R_{2v}^c}(C)).
\end{aligned}$$

Other cases are similarly proved.

Corollary 3.5 For $R \in P(U \times U)$, we have the following properties.

- (1) $F_{R_u} \circ F_{R_u} = F_{(R \circ R)_u}$ and $F_{R_u} \circ F_{R_u} = F_{(R \circ R)_u}$, for each $F \in \{\underline{apr}, \overline{apr}\}$.
- (2) $F_{R_u} \circ F_{R_v} = F_{(R \circ R^s)_u} = F_{(R \circ R^s)_v}$ and $F_{R_v} \circ F_{R_u} = F_{(R^s \circ R)_u} = F_{(R^s \circ R)_v}$, for each $F \in \{\underline{apr}, \overline{apr}\}$.
- (3) $F_{R_u} \circ F_{R_u} = F_{(R \oplus R)_u}$ and $F_{R_u} \circ F_{R_u} = F_{(R \oplus R)_u}$, for each $F \in \{O, P\}$.
- (4) $F_{R_u} \circ F_{R_v} = F_{(R \oplus R^s)_u} = F_{(R \oplus R^s)_v}$ and $F_{R_v} \circ F_{R_u} = F_{(R^s \oplus R)_u} = F_{(R^s \oplus R)_v}$, for each $F \in \{O, P\}$.
- (5) $Ib_R \circ Ib_R = \underline{apr}_{R_u^c} \circ \overline{apr}_{R_u^c}$.
- (6) $Ub_R \circ Ub_R = \underline{apr}_{R_v^c} \circ \overline{apr}_{R_v^c}$.
- (7) $Ib_{(R^s \Rightarrow R)} = \underline{apr}_{R_v} \circ Ib_R$.
- (8) $Ub_{(R^s \Rightarrow R)} = Ub_R \circ \overline{apr}_{R_u}$.
- (9) $Ib_{(R \Leftarrow R^s)} = Ib_R \circ \overline{apr}_{R_v}$.
- (10) $Ub_{(R \Leftarrow R^s)} = \underline{apr}_{R_u} \circ Ub_R$.
- (11) $O_{(R^s \Rightarrow R)_u} = \underline{apr}_{R_v^c} \circ O_{R_u^c} = O_{R_v} \circ O_{R_u^c}$ and $O_{(R^s \Rightarrow R)_v} = \underline{apr}_{R_v} \circ \underline{apr}_{R_u^c}$.
- (12) $Ib_{R \oplus R} = \underline{apr}_{R_u^c} \circ Ib_R = O_{R_u} \circ Ib_R = Ib_R \circ Ib_R^c$.
- (13) $Ub_{R \oplus R} = \underline{apr}_{R_v^c} \circ Ub_R = O_{R_v} \circ Ub_R = Ub_R \circ Ub_R^c$.

Proof. (2) Since $R \circ R^s$ is symmetric from Lemma 2.3, $\overline{apr}_{(R \circ R^s)_u} = \overline{apr}_{(R \circ R^s)_u}$. Moreover,

$$\begin{aligned} & \overline{apr}_{R_u}(\overline{apr}_{R_v}(A)) \\ &= \{x \in U \mid (\exists y \in U)(y \in \overline{apr}_{R_v}(A) \wedge (x, y) \in R)\} \\ &= \{x \in U \mid (\exists y \in U)\left((\exists z \in U)(z \in A \wedge (z, y) \in R) \wedge (x, y) \in R\right)\} \\ &= \{x \in U \mid (\exists z \in U)\left(z \in A \wedge (\exists y \in U)((z, y) \in R \wedge (x, y) \in R)\right)\} \\ &= \{x \in U \mid (\exists z \in U)\left(z \in A \wedge (\exists y \in U)((z, y) \in R \wedge (y, x) \in R^s)\right)\} \\ &= \{x \in U \mid (\exists z \in U)\left(z \in A \wedge (z, x) \in (R \circ R^s)\right)\} \\ &= \overline{apr}_{(R \circ R^s)_v}(A) = \overline{apr}_{(R \circ R^s)_v}(A). \end{aligned}$$

Other cases are easily proved from Theorem 3.4.

From Corollary 3.5 and Lemma 2.3, we can obtain the following corollaries.

Corollary 3.6 *Let $R \in L^{U \times U}$ be a quasi-equivalence relation. Then we have the following properties.*

- (1) $F_{R_u} \circ F_{R_u} = F_{R_u}$ and $F_{R_v} \circ F_{R_v} = F_{R_v}$, for each $F \in \{\underline{apr}, \overline{apr}\}$.
- (2) $Ib_R = \underline{apr}_{R_v} \circ Ib_R$.
- (3) $Ub_R = Ub_R \circ \overline{apr}_{R_u}$.
- (4) $Ib_R = Ib_R \circ \overline{apr}_{R_v}$.
- (5) $Ub_R = \underline{apr}_{R_u} \circ Ub_R$.
- (6) $O_{R_u} = \underline{apr}_{R_v} \circ O_{R_u} = O_{R_v} \circ O_{R_u}$ and $O_{R_v} = \underline{apr}_{R_v} \circ \underline{apr}_{R_u}$.

Moreover, if R is symmetric, then $F_{R_u} \circ F_{R_v} = F_{R_u} = F_{R_v} = F_{R_v} \circ F_{R_u}$, for each $F \in \{\underline{apr}, \overline{apr}\}$.

Corollary 3.7 *Let $R^c \in L^{U \times U}$ be a quasi-equivalence relation. Then we have the following properties.*

- (1) $F_{R_u} \circ F_{R_u} = F_{R_u}$ and $F_{R_u} \circ F_{R_u} = F_{R_u}$, for each $F \in \{O, P\}$.
- (2) $Ib_R = \underline{apr}_{R_u} \circ Ib_R = O_{R_u} \circ Ib_R = Ib_R \circ Ib_R^c$.
- (3) $Ub_R = \underline{apr}_{R_v} \circ Ub_R = O_{R_v} \circ Ub_R = Ub_R \circ Ub_R^c$.

Moreover, if R is symmetric, then $F_{R_u} \circ F_{R_v} = F_{R_u} = F_{R_v} = F_{R_v} \circ F_{R_u}$, for each $F \in \{O, P\}$.

Example 3.8 Let $M = \{m \in N \mid 1 \leq m \leq 10\}$, $R = \{(m, n) \mid m \leq n, m, n \in M\}$, $A = \{3, 5, 7\}$ and $B = \{1, 2, 5, 8, 9, 10\}$ be given. Then R is a quasi-equivalence relation. We obtain:

$$\begin{aligned} I_R(A) &= \underline{apr}_{R^c}(A^c) = O_R(B^c) = \{1, 2, 3\}, \\ \underline{apr}_{R_u}(A) &= \underline{apr}_{R_v}(A) = (\overline{apr}_{R_u}(A^c))^c = \emptyset, \\ \overline{apr}_{R_u}(A) &= \{1, 2, 3, 4, 5, 6, 7\} = (\underline{apr}_{R_u}(A^c))^c, \\ O_{R_u}(O_{R_u}(B)) &= O_{R_u}(B) = Ib_{R^c}(A^c) = \{8, 9, 10\}. \end{aligned}$$

References

- [1] D. Dubois, H. Prade, Rough fuzzy sets and fuzzy rough sets, *Internat. J. Gen. Systems*, **17**(2-3),(1990), 191-209.
- [2] Z. Pawlak, Rough sets, *Internat. J. Comput. Inform. Sci.*, **11** (1982), 341-356.
- [3] Z. Pawlak, Rough sets: Theoretical Aspects of Reasoning about Data, System Theory, Knowledge Engineering and Problem Solving, Kluwer Academic Publishers, Dordrecht, The Netherlands (1991)
- [4] Z. Pawlak, A. Skowron, Rudiments of rough sets, *Information Science*, **177**(2007), 3-27.
- [5] Z. Pawlak, A. Skowron, Rough sets, *Information Science*, **177**(2007), 28-40.
- [6] Z. Pawlak, A. Skowron, Rough sets and Boolean reasoning, *Information Science*, **177**(2007), 41-73.
- [7] Y.Y. Yao, Consructive and algebraic methods of theory of rough sets,*Information Sciences*, **109**(1998), 21-47.
- [8] Y.Y. Yao, Relational interpretations of neighborhood operators and rough set approximation operators, *Information Sciences*, **111**(1998), 239-259.
- [9] W. Zhu, Generalized rough sets based on relations, *Information Sciences*, **177** (2007), 4997-5011.

Received: July 8, 2008